1. 3+х=10         12-6х=12

                  570

              3х-7=8

    6+х=10         7+5х=47

                  ?

              7х-9=5

Ответ: 248.

2. 3а-b     5a+4b     2a+5b
    -a+2b       ?         -3b-5a

Ответ: -6a-b

3. Китель                                                 Ель

                        7                        10

Колодка                                                   Лодка

                        -2                        0

Ярмарка                                                      ?

                           -7                     -4

Ответ: арка.

4. 2х-3=1                                       Февраль

    7х-4=9х-12                                Апрель

    48-5х=3                                     ?

Ответ: Сентябрь.

5. 

КРОТ
1<x<3
КОТ

КРОЛИК
2<x<5
?

Ответ: КРИК.

6. 
ГВОЗДЬ
3/18
ГРОЗДЬ

БИЛЕТ
10/1
БАЛЕТ

ГРАБ
1/10
?

Ответ: ГРИБ.

7. 

СПОР
3х-11=х+29
СПОРТ

ПАР
18-2х=-6
ПАРК

СТОЛ
9х-3=5х+5
?

Ответ: СТОЛБ.

